[

R44 47k
—
(.

=2

T3 BC639

R35 100k

R43 10k |R42 220k

D4 1N4001

N

C1847u ——

V+ V+ V+
V+
V+ X
_ ~
[ Delay switch to test turn on / off thump transient | . N N
[] R2110k N
V+ o
T v+ VHigh_Opt
R2540m 11220 R2240m 1222u p e —L Gz ODARS 4N35
— Current =
¥ % T!: """ — (A\j out_DG R34 68( | C111m _|_
: T
R23 1k c1o1u | RIGTK —— c81u ; J_
AN VLow_Opto R30680 | c121m GZ:L_K ) ODAR4 4N35
V148 Z11N2834  C9 470u —— C6470u —— T -+
R39 1,5k
V+
¢ []Rzo 10k ODAR1 4N35
3 IRFP150 ~
1 R38 332k © @j‘ [
- — <
R1221 o € g
V_top
Q4 7TX450 SPK+ ODAR2 4N35 :SD
IN TOP T1 IRFB3607
C1220u —— - q
~ ~ ] R11221 V_UProt_Mosfet
= R6 235m b ] s Vi
2 Out_DC 2 — 1 —
o T ¥ e D1 1N4001
AC_GAIN_BQT 3
N 1 L g
Y €3 220u R3 117,5m SPK+_AfterProt +
a1t T C41u (j‘
I - -
C51u InputZ 1m A e - AV
T2 IRFB3607 x
R36 1k C24,7m 5
V_LProt_Mosfet ©0
T SPK+ :| RiB221 — O- = ODAR5 4N35
VG1 Q1B J28J74 ~ s
g >
@Rm ™ [] — % Q2 IRFP150 SP]'K_ ; - D
T VDS Q1 SPK+_AfterProt o
R46 1k '—| '—1 - R2100 |:
V_Q1_Gate 1 —] + L
- = + R26 100k [] — Q,j' -
QIAJ28I74 Lo S . V_bot -
< Q/j' c s L 6 BC639
x Q1_bias é —é 5 N ~N
| C141m —— > e
- 5T o I
~
v+ J__ T [] out SP2 14
; SPK-
SP17 1
T =
R41 10k
— +
V.Rs (V R9 470m
P1 10k
° -
Q2 is here an IRFP150 but R100 also works when built in practice.
R37 10k I don't have a working spice model for the R100 though.

IRFP150 needs higher resistance on R14 though
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